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1. -rreJ6'leJ'U~.:lVl~~iJ 5 -rreJ -rreJG'l~10 fl~bb'U'Ubvhi)'UV1tl-rreJ ';jd~ 50 fl~bb'U'U (40%),
2. -rreJ6'leJ'U~.:lVl~~iJ 15 Vl111 er6'leJ'U~eJ.:lmT'iJl1iJfl';j'UV1tlVl111Vl~eJ1~ (neJ'UG'l.:liJeJ'Yl1) bbG'l~~l~bbtl~

'\J ,

odiI q i.I I

VlcaeJOtl"1JeJ6'leJ'UeJeJtl"iJlmG'l~

3. 1~'Yl1Vl~~V1tl-rreJG'l.:l1'U-rreJ6'1eJ'U,
4. ~1~t11beJtl6'l1';j1~1b-rrl~eJ.:l6'leJ'U VJ"iJ~\?l"iJ~1~E

5. eJ'UtlJl\?l1m-rrbfl~eJ.:lfi~bG'l"1J1~V1tl"1J'W~, v ,

6. 1~b;CJ'U~eJ-6'ltlG'l bbG'l~b;CJ'U';jVl6'l1'U-rreJ6'leJ'UV1tlVl111~dCJ, ,
7. ~1~Vl~'UVl~eJ~~~.:l"1JeJ.:l1~ 1"1JeJ.:l~~'U1 'U~eJ.:l6'leJ'U
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1. "iJ\lVl1 O"z ~~~~'Ufl11~~fl Z = 2.5 b~~~ (hhl~ Overburden Pressure) ~1Vl~'U~~ R, S, T bbG'1~U

n1Vl'U~1~ q = 20 tlm2
m~vl1'U'U~1'U~1mtJ~bVl~(J~~'U~1'lf'l..n~ 200 x300 em ~\I~tJ~ 1.1~ ~ ~
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2. 1'Um~Vl~6'feJ'Um~CJ'U1'11'IJeJ\I&i'UbVltjCJ1~:U1'11'IJ'U1~fl11:UVl'U1b'Vht1'U3.8 em vr'U~ 90.18 em21~CJ&i'U,
v I I v

1'11eJ~1\1ii'\.11Vl'wn645 g bijm~:um~Vl~6'feJ'U bb6'1tii'l..l1Vl1Jn477.8 g Vl~\IeJ'UbbVl\ll~CJm~Vl~6'feJ'U1-iib1m

1000 'U1Vl bb6'1t'tJ'UVinI"iT'iJ1nm~Vl~6'feJ'Ul~~\Id

'" Dial readingbb~\I~'U

kg/em
2 -3

10 em

0.0000 0

0.0665 18

0.1330 28

0.2660 55

0.5325 98

1.0640 186

2.1300 340

4.2600 506

8.5200 668

"iJ\lVl1

(a) fh~(?l~1~1'U"lieJ\ll1\1'IJeJ\I&i'U1'11eJ~1\1~\IrieJ'Ubb6'1tVl~\Im~Vl~6'feJ'Ul~CJ1Vl Gs =2.717

(b) "iJ\lb~CJ'Um1~fll1:U61:u,;r'U'B~tVl11\1e t1'Ulog p bb6'1tVl1fh~'1Jtjm~n~~~ (Cc) Vl'U17

(c) "iJ\lVl1fh61:utJ~t~Vlt'IJeJ\lm1:U6'f1:U1~tl1'Um~B~1'11 (Gv) bb6'1t61:Uth~~Vlt'IJeJ\lm~btJ~CJ'UbbtJ6'1\1tJ~:U1(?l~

(mv)1'U"lil\1~-r'Ubb~\I~'U"iJ1n0.5325 t'l\l1.064 kg/em2
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3. ,;;)~Vl1"ll'W1~"lle:J~bb';j~~'W~'W~1'W-1f1~bb'U'UActive, Pa ~fm:;vh~e:J1fl';j~6'f~1~nlbb'l"l~n'W~'W ~~'l'l.J3 (n)

3 ("U) bb(j~3 (1'1) n1V1'W~1~~'W~1'WVI~~n1bb'l"l~btJ'W'VI';j1(JfI:IJ

y = 19 kN/m3

cI> =350

y = 19 kN/m3

lj> =350

y = 16 kN/m3

lj> =350 3 m

y = 19 kN/m3

cI> =350 3 m
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V1':ilf.JiJrl1 Ysub = 0.95 t / m3 bb6'l~ rjJ = 4r "iJ\lf'l1'U1ruVllrl1~\Jlll'\t1tJf)1j':i':i'YJn hW16'UB\I Terzaghi,

Meyerhof bb6'l~Hansen

1200 t

8=0.5 m
(L=2 m)
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5. Iil\lAl'W'JtuVll Factor of Safety "lJe:J\I'j'~'Wlu~'Wtm"lJe:J\I-&'W~'W~iifl'Jl:lJmVl-B''WtVlCJifi Ordinary Method

of Slice (Fellenius) tVlCJbbtJ\lbU'W11 -de:J\Iti1\1'j'U~ 5 ('j'UhJ\?ll:lJ6'fbfl"')'V 'V

5.1 mru~iibb'j'\Iti1'WJ11irh u \?l1:lJ~rllV1'WVl1m'W\?l1'j'l\1~ 5.1 (5 fl~bb'W'W)

5.2 mru~1~iibb'j'\Iti1'WJl ('j'~ti1uJl11'i'~'Wmj~1:lJlfl) (5 fl~bb'W'W)
'V

o ~ ClI I 3 2 0 I tV ~ d.,J 'I

fl1V1'WVlVl'W~:lJ:lJfllr = 1.9 t/m , c' = 1.5 t/m bb"'~ rfJ' =25 fllbb'j'\IVl'W'Wlbu"'CJVl~l'W"lJe:J\lbb\?l"'~"1le:J\lbb"'~

ie:J:lJ",~"illb U'W~lV1~Ufl1'j'rll'W'Jtu 1~bb6'fVl\l1i1'W\?ll'j'l\1~ 5
'V

r
4m

9m +---16m
Center of Circle

o

'U'lJ,huVi 11 10 9 8 7 6 5 4 3 2 1

W(tlm) 4.10 16.53 9.31 37.05 45.03 50.73 54.15 53.30 59.66 16.24 2.20

ai -30.65 -20.14 -11.31 -3.81 4.76 14.04 23.43 33.69 48.37 64.06 74.58

2u (tlm ) 0.8 1.05 1.45 2.2 3 3.4 3.4 3.05 2.2 0.6 0

I (m) 3.15 3.20 2.10 3.00 3.00 3.10 3.25 3.60 6.00 4.10 3.00
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m = 2..1 I m=xg 0.25 m - 2.0 •••.••
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